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1 Simplify the following fractions 
a) 2𝑥𝑥

5
+ 3𝑥𝑥

7
 

b) 2𝑥𝑥
7
− 9𝑥𝑥

11
 

c) 𝑥𝑥
3

+ 3𝑥𝑥
5
− 2𝑥𝑥

7
 

d) 2𝑥𝑥
5

+ �3
4

× 𝑥𝑥
5
� − 7𝑥𝑥

8
 

e) 𝑥𝑥
3
− 𝑥𝑥

4
÷ 𝑥𝑥

3
+ 1

5
 

 
Answers: 

a) 𝟐𝟐𝟐𝟐𝟐𝟐
𝟑𝟑𝟑𝟑

 
 

b) −𝟒𝟒𝟒𝟒𝟒𝟒
𝟕𝟕𝟕𝟕

 
 

c) 𝟔𝟔𝟔𝟔𝟔𝟔
𝟏𝟏𝟏𝟏𝟏𝟏

 
 

d) −𝟏𝟏𝟏𝟏𝟏𝟏
𝟒𝟒𝟒𝟒

 
 

e) 𝟐𝟐𝟐𝟐𝟐𝟐−𝟑𝟑𝟑𝟑
𝟔𝟔𝟔𝟔

 
 

2 Simplify the following fractions 
a) 𝑥𝑥+5

3
+ 𝑥𝑥+3

4
 

b) 11+3𝑥𝑥
4

+ 𝑥𝑥−5
3

 

c) 2𝑥𝑥−5
7

− 𝑥𝑥+5
4

 

d) 7𝑥𝑥+1
3

− 6−5𝑥𝑥
2

 

 
Answers: 

a) 𝟕𝟕𝟕𝟕+𝟐𝟐𝟐𝟐
𝟏𝟏𝟏𝟏

 
 

b) 𝟏𝟏𝟏𝟏𝟏𝟏+𝟏𝟏𝟏𝟏
𝟏𝟏𝟏𝟏

 
 

c) 𝒙𝒙−𝟓𝟓𝟓𝟓
𝟐𝟐𝟐𝟐

 
 

d) 𝟐𝟐𝟐𝟐𝟐𝟐−𝟏𝟏𝟏𝟏
𝟔𝟔
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3 a) Simplify 6𝑥𝑥
2−𝑥𝑥−15
9𝑥𝑥2−25

 fully 

b) Write 2𝑥𝑥
2+7𝑥𝑥+6
𝑥𝑥+2

 in the form 𝑎𝑎𝑎𝑎 + 𝑏𝑏 

c) Write 𝑥𝑥2−1
5𝑥𝑥2+𝑥𝑥−4

 in the form 𝑎𝑎𝑎𝑎+𝑏𝑏
𝑐𝑐𝑐𝑐+𝑑𝑑

 

d) Simplify the expressions 49−81𝑥𝑥2

18𝑥𝑥2+23𝑥𝑥+7
 

 
Answers: 

a) 𝟐𝟐𝟐𝟐+𝟑𝟑
𝟑𝟑𝟑𝟑+𝟓𝟓

 
 

b) 𝟐𝟐𝟐𝟐 + 𝟑𝟑 
 

c) 𝒙𝒙−𝟏𝟏
𝟓𝟓𝒙𝒙−𝟒𝟒

 
 

d) 𝟕𝟕−𝟗𝟗𝟗𝟗
𝟏𝟏+𝟐𝟐𝟐𝟐

 
 

4 Solve the following equations 
a) 𝑥𝑥

5
+ 𝑥𝑥

6
= 1

10
 

b) 2𝑥𝑥
3
− 2𝑥𝑥

5
= 7

8
 

c) −6 = 3𝑥𝑥
4

+ 𝑥𝑥
5
 

d) 𝑥𝑥−2
3

+ 𝑥𝑥+1
2

= 4 
 

Answers: 
a) 𝒙𝒙 = 𝟑𝟑

𝟏𝟏𝟏𝟏
 

 
b) 𝒙𝒙 = 𝟏𝟏𝟏𝟏𝟏𝟏

𝟑𝟑𝟑𝟑
= 𝟑𝟑 𝟗𝟗

𝟑𝟑𝟑𝟑
 

 
c) 𝒙𝒙 = −𝟏𝟏𝟏𝟏𝟏𝟏

𝟏𝟏𝟏𝟏
= −𝟔𝟔 𝟔𝟔

𝟏𝟏𝟏𝟏
 

 
d) 𝒙𝒙 = 𝟓𝟓 
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5 a) Show that 2𝑥𝑥
2−7𝑥𝑥+6

4𝑥𝑥2−4𝑥𝑥−3
 can be written in the form 𝑎𝑎𝑎𝑎+𝑏𝑏

𝑐𝑐𝑐𝑐+𝑑𝑑
 

b) Hence or otherwise solve the equation 2𝑥𝑥
2−7𝑥𝑥+6

4𝑥𝑥2−4𝑥𝑥−3
= −4  

 
Answers: 

a) 𝒙𝒙−𝟐𝟐
𝟐𝟐𝟐𝟐+𝟏𝟏

 
 
 

b) 𝒙𝒙 = −𝟐𝟐
𝟗𝟗
 

 


